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Read the following instructions carefully before you begin to answer the questions.
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IMPORTANT INSTRUCTIONS

This Question Booklet is divided into three Parts—Part—I, Part—II and Part—III. Part—I contains questions of
Language (Qualifying), Part—II contains questions of General Studies and Part —III contains questions of
English.

Part-I, Language (Qualifying) consists of Question Nos. 1 to 30. In Part-I, English Language consists of
Question Nos. E-1 to E-8 (common for all), Hindi Language consists of Question Nos. H-9 to H-30, Urdu
Language consists of Question Nos. U-9 to U-30 and Bengali Language consists of Question Nos. B-9 to B-30
(Students are required to choose the questions from any one language out of three languages). Part-1I consists
of Question Nos. 31 to 70 (the questions and their responses are printed in English and Hindi versions both)
and Part—III consists of Question Nos. 71 to 150.

All questions carry equal marks.

An Answer Sheet has been supplied inside the question booklet to mark the answers. You must write your Roll
Number and other particulars in the space provided in the Answer Sheet, failing which your Answer Sheet will
not be evaluated.

Immediately after commencement of the examination, you should check up your Question Booklet and
attached answer sheet and ensure that the Question Booklet Series is printed on the top right - hand corner of
the Booklet and the series encoded in answer sheet are same. Also please check that the Booklet contains 32
printed pages including two pages (Page Nos. 30 and 31) for Rough Work and no page or question is missing
or unprinted or torn or repeated or question booklet and answer sheet have different series. If you find any
defect in this Booklet, get it replaced immediately by a complete Booklet with OMR sheet of the same series.

You must write your Roll Number in the space provided on the top of this page. Do not write anything else on
the Question Booklet.

Each question comprises of Five responses—(A), (B), (C), (D) and (E). You are to select ONLY ONE correct
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

In the Answer Sheet, there are Five circles@ , ,@ ,@ and @ against each question. To answer the
questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your choice for each
question. Select only one response for each question and mark it in your Answer Sheet. If you mark more than
one answer for one question, the answer will be treated as wrong. Use Black/Blue ink ballpoint pen only to
mark the answer in the Answer Sheet. Any erasure or change is not allowed.

If there is any sort of mistake either of printing or of factual nature, then out of English and Hindi versions of the
questions, the English version will be treated as standard.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take this
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the
examination has concluded, you must hand over your Answer Sheet to the Invigilator. Thereafter, you are
permitted to take away the Question Booklet with you.

Failure to comply with any of the above instructions will render you liable to such action or penalty as the
Commission may decide at their discretion.

Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept in Self
Adhesive LDPE Bag and completely packed/sealed in their presence.
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PART -1
(English Language)

Directions (Q. Nos. E-1 to E-5) Read the passage
given below and answer the questions that follow :

Amitabh Bachchan, popularly known as big B, was
born in Allahabad, Uttar Pradesh on 11 October 1942.
He is an iconic actor whose career in Indian Cinema
has spanned four decades. His father H.R. Bachchan
was a well-known Hindi poet. (Bachchan is actually
his father’s pen name but has now become the family
surname) Amitabh attended boys’ High School in
Allahabad, followed by Sherwood College in
Nainital and earned a degree in science from Delhi
university. His first film was ‘Saat Hindustani’ (1969).
He became well-known as a movie star in 1973
after the success of ‘ Abhimaan’ and ‘Zanjeer’ which
was followed by his box office successes such as
‘Sholay’ ‘Amar Akbar Anthony’, ‘Trishul’, ‘Don’
and “Deewar’. He often played the role of an angry
young man fighting a corrupt establishment, a theme
that had tremendous appeal in India at that time.

E-1. Which city is the birth place of Amitabh in

India?
(A) Bombay
(B) Delhi

(C) Bangalore
(D) More than one of the above
(E) None of the above

E-2. How long has Amitabh Bachchan dominated
Indian Cinema?

(A) Threedecades

(B) Four decades

(C) Twodecades

(D) More than one of the above
(E) None of'the above

E-3. From which university did Amitabh earn his
degree in science?
(A) Aligarh Muslim University
(B) Banaras Hindu University
(C) Punjab University
(D) More than one of the above
(E) None of'the above
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E-4. When did Amitabh got recognition as amovie

star in India?
(A) 1966
(B) 1969
(C) 1973

(D) More than one of the above
(E) None ofthe above

E-5. Which film of the following is Amitabh’s first

film?
(A) ‘Zanjeer’
(B) ‘Abhiman’

(C) ‘SaatHindustani’
(D) More than one of the above
(E) None ofthe above

Directions (Q. Nos. E-6 and E-7) : Fill in the blanks
with suitable articles like ‘a’ ‘an’ ‘the’ :

E-6. The shadow of moon fills on Earth.
(A) an
B) a
(C) the

(D) More than one of the above
(E) None ofthe above

E-7. 1have always wanted to study abroad, not
only for  degree but also for the
experience.

(A) an

B) a

(C) the

(D) More than one of the above
(E) None ofthe above

E-8. First May 2024 is Wednesday, what day of
the week would be 9" of May?

(A) Friday
(B) Thursday
(C) Monday

(D) More than one of the above
(E) None ofthe above


{DBF E-1}
{DBF E-2}
{DBF E-3}
{DBF E-4}
{DBF E-5}
{DBF E-6}
{DBF E-7}
{DBF E-8}

(Hindi Language)

(%)

Freferfaa et =t ugeR g2 M0 Tt I i -

i T v faferet 37 wem shifde e § | uh
9, R oroa s @ s goRwa i fgen foen ol st
T TETE AT THTS o UUh H 3T, T4k Siia | shifd 31T
T3, 3TH ST T HHAT i < |IEH T 3a1] 34 et
T IR TR TR 27| T ST <l Uell ST Tk Shtcrenrdt
ok <91 W T § AT 991 <Rt Tl o forg W fren @
Tan | fafarme swifaetl e & 9o 57 1) 324 Uk
gk Wi foreii- “amient st wrs i fWefi?” gt
AT AHE ek g WG 2| G | 9
S Tk agd aSt THE off| 87 e o foru 3 feRet
S R TE TaT, ek SIS o TN WA o
I TS| T2 9 3R, 1925 hl SRkl I W
& TIER T T T o {3 | 36k fore sor geRem
AT T | 3o, I <hl Tl 4 15 | uifsa Tt 4 26-27
T <Rt o1 H g e o forama, St et o1y <A A oft
TE o UTd | 3 ek shidl WY 2, Seh! 3 Uikl T —a0T W
TN A E ¢

RSN hY qHE 7 gAR TR A )

@ g TR Fehr 1 ATy T-ahfaer | g1

H-9. T THTE & Siaq | U el ST ?
(A)  hifereRTREn o Hueh | 3R W
(B) @ Sruien! sht Td ot
(C) <=2 31 TuTS & Guh | 3
(D) SudHH A TF @ AR
(E) Sugwhd g @

H-10.fsfe 3 ga i owen Fa ga e
(A) TR T T
(B) =ia1 goheal Fh
(C) Tl =l T
(D) 3SUdH A Tw A 3w
(E) Sugwd g Td
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H-11. i wem shifcentdl il hgetie ?
(A) wiifer 3 widh R T & )
(B)  iifen 3 e forei|
(C) Hiifeh 3= 310R HTa & SN THAA R
T feam|
(D) Swdvs il & U @ ot
(E) Sugwd g Td

H-12. 9=/ A A T2 2 :
a) ==
B) wm
(€) =
(D) U U W TF A A
(E) Sugwhd g Td

H-13. ‘s yisg o foetm 2 ¢
(A) TR
(B) ke
(C) e
(D) SudwH A UE A Afw
(B) Sudvhd | s T

H-14. ‘it 311 S aren’ areriyn & foe v wsg @ -
(A) vy
(B) dwmig
(C) ey
(D) SudwH W TH A AR
(E) Sugwhd @ T&
[=]2:![=]

I [PTO.


{DBF H-9}
{DBF H-10}
{DBF H-11}
{DBF H-12}
{DBF H-13}
{DBF H-14}

(@)

AT 1 (G HER 6 Die—a TUTEt iR uerelt §
g WA TN 3| W gEfere TR Wy et gfgum o
THETATI T TToft | 270 ol o ot W € g =i =g
TR g SR g 3701 36 TR g Uiy e v, e 3R
gfers 81 & AU AT % EEIRE o o dqae
TG 1A 24 (20| 31 Tl Shl SR SR |ET SieH,
3= ferIR’ SRl AHE-Siia <hl TeTdl <l WGt AT =0 2|
Tt 7S o U | e, afeeh 6k I gra-uE,
Teram Tren e & &1 | 2R =ieu| I8t atereh |t
2, I foramit it off S TRt T SRR <Rt safa oii foreem
T HROT TG g| TER 1 3T 8 o1 i TTaTE ¢ R
RN A § e gEe Sfth & I @ 3 TR I
St iR e 1 g 9w e o @ 2| HEe g, Ha
R, & Tk, HTHT TieR, SF. N, fomen wa
JATfe T T2 o Teel THI0T 3|
H-15.7753 1 SiieH 918 o= 711 A1 8 ?

(A) iR ag T 2

(B) aHifeh a2 igH™ 3R TheuAmfier 8

(C) wifer org ufterdt SR waR 2

(D) 3I9gH T A TH | Afw

(E) sudwdaweTd

H-16.357 %t 3 fore v 3 Frem 3 2 =nfee?
(A) 33, 3™ 3R st
(B) sgfER
(C) wrR-wEd T
(D) SudwwH A Tk A Afrw
(E) Sugwhd @ 7@

H-17. e At rn g ?
(A) Srenfies iR SRS
(B) = v
(C) wg== femmn
(D) SUgHH A Tw A 3w
(E) <wdeh & i T
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H-18. 3afd’ e <1 3a e oree 2 ¢
(A) vk
(B) et
(C) et
(D) SudHH A TF @ AR
(B) Sudvhd | s T

H-19. 7@ g S 3TeHT hIEAE R
(A) wHuRE T
B) crEEHHE T
(C) wgETau™
(D) SudHH W TF @ AR
(B) Swgmua®ETE

H-20. ‘T’ 713 o1 Tl aui-fasde g -
(A) 9+3+3N+q+A+J+TU+F
B) T+I+A+TA+A+IT+TU+FH+ A
C) T+{T+A+TA+IT+T+F+ A
(D) o & A v & aifrw
(B) SHEwHAARETE

H-21.Fr=ffea 4 @ afg w@fa = seewr @ -
(A) Temew
(B) fw
(C) Rt
(D) SUgHH A Tw A 3w
(B) <wdeh o & g T

H-22. Freferfion & & yg ad -
(A)  efigfa
B)  sfgda
(©) g
(D) Sudes & @ il
(B) o @ T

[=]E![a]


{DBF H-15}
{DBF H-16}
{DBF H-17}
{DBF H-18}
{DBF H-19}
{DBF H-20}
{DBF H-21}
{DBF H-22}

H-23.fFrafeftaa # @ wiftaress @ g - H-27. ‘Fwomdor vieg H HiA—H1 76 8 ?

(A) =& (A) srehE
(B) W= (B) wuRa
©) = (©) =g
(D) 3udw | T @ st (D) 39T A TH A HAfw
(B) <wdeh & g T (B) Sugwhd @ wE T
H-24. <igar & qeiEar § - H-28.Frafetitaa ameri & fore ush visg sams -
(©) o ®) e
(D) 3w i@ T @ aifers ©) T
(®) vt D) FemA A sl
(E) Sugwd g T

H-25. R’ @ fadm vse @ -
H-29. ‘3griiF 8 9’ & fote wEt gera @ -

(A) === .
(A)  sitd go

(®) st (B) si@iH e

© Heew (©) sditma

(D) 3udeh & Tk & i (D) i d AT A o

© R ® A
H-26. A s st gu i § - # fagwur i 2 - H-30. Frons’ & soe § -

A # A)

B) T ®)

© = (C) =

(D) ITEw U A TH | ferw (D) 3w A U A o

(E) Sugwd g Td (B) i AwE 7@

O]
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{DBF H-23}
{DBF H-24}
{DBF H-25}
{DBF H-26}
{DBF H-27}
{DBF H-28}
{DBF H-29}
{DBF H-30}
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(Bengali Language)
B-9. “G” Ffa— B-14.“9f” w&amfoa Sesife—
(A) SR Yy wRiee & A) o W @
(B) SR wleiay Wi el
(C) R sdoy el e
D) TritaEslEm T 9@ @A S’ (€) g T (R
(E) TR @IAHe 7 (D) ToARISSlTE A G (ACE KT

(E) ToET @Ie a9

B) “on” *m (AF

B-10.7115%1 > 51— RISt 1orgf-

(A) AN IrBof©
(B) RaSreacT wesfe B-15. “FNAFE A 2GR —2ACH “ATrg”
(C) 3fRIcaa wr@afe st —
(D) THSSRR MW G (AP A A) s Tl
(E) THEF @IAIDE 7 B) e G
B-11. “Flo&” <A {6— (C) fasiss famnl
(A) I (D) TAEIGSHE N G (A AGS
®) FE (E) Toitaa @Il =

(C) ol ==
(D) TSR A A (A AT

B-16.5» FRYIT 76T *A—
(E) To&T @Ie a9

(A) Treew

B-12.“7” @ “o” *w yors Ahwm FAC B) =

= (C) wafe

(A) o=

B) o (D) TASSET M GUFe (AT WK

(C) “Ffa (E) Totaa il =

(D) CTHCASSleT A G (AT LT

(B) ST @E B-17. “SISHRIA T siod TR 28—
B-13.“Si@ Fe|” <@l g — (A) I AW

(A) FAHIA TSNP (B) W Wrw cdfre i

(B) TCHR FOIH (C) IR e

(C) SIRAGR FSF R iy S pp————

(D) TRl M0 A (AF A

© S - (E) THEF (@IAIDE 7

EE
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B-18.“ + 9F-IRF — QT HoREE “ATF

*AHre FAF (@-AfGTe o7 OIcF &
w_

A) @9

®) =

(C) =R

(D) TAEEHR T GFF (AF TS
(B) Toaa @Ieafg wm

“BF (TF @ SREAT AN (AT | GRR
SR ARG TR (5P AR ATl
G (MAIF AfRe #IfFeR 27 | (6P MR,
oAk O [RAR-ANCAICR 7w (MF-(rdl
ffge 233 aEfrrer oifigs 2w
MR AN TR 9 ] SZe
= ST TR KAV ToifFe SR
A GF OGS (S I | Tl G0l
FFCHA, @ FCA AP, O Q@ TR
4o SRR, 93 FEFG] FA ol
(MR NIECA 0w e | 3 o
A wdie (R B@ <Y e,
7l SIfle AT 3R SRS, (2N
wiefie 7S, @3 ot 4y @3 T
faw fqaw <fox St wizal Fwl +i4te
AT AT W6 GolfFe 23re, @)
AR SCHIE T Jerg I F!
SRt 9 7w e faa sfkeemr

B-19.R31Z THATE (RART THAEe 29—

(A) TR

(B) (ATETE 9t

(©) em 9tz

D) THAERR T A (AF A
(E) THAER (AR T7
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B-20. SIE S0 (AR e 0ol e
(A) T IeRFEA =
(B) @ @
(C) (AT
D) THAGRER T A (AF A
(E) Toltaa (A2 o

B-21. ("R 2 T —
A) T
(B) Mt
©) &
(D) TSl WK G (AT SET
(B) T (ICAIDE 97

B-22.CT9F w1 fa f@am &cafest
(A) *H-zfo-mRel exy
(B) (AGHRAMIMA-TT Sy
(C) 2S-SICAMSI-(ABIE™ S
D) THAERER T A (AF A

(B) @ (D2 97

B-23. (¥ W4l [efta o sirefes—
(A) FWHF T
(B) foeprT Toig
(C) TR S T
(D) TSl WK G (AT SEST

(E) @ @ICAIDE a7

B-24.“Rarz-smigiw” #mic—
A) oM
B) ET™
(C) faF o™
D) THAGRER T A (AF A
(E) Tolzm @IiDe



T =R o Ny @-owiEs Wy,
OIZ (T ALY ICECR I 4 |
wes 0% @3 TAhl FAT I Yo 4
SRR W (oI arere: foesfes
R L S M T e K e SO
foexfe @-7e7 oohTl ©F 1, OIS A
AR RS € FRIge I dFfed 7ol
AefeEs FF | A ATIgS
Sretew-FIfEaT Yo @2 [ e
e g e 7 hedfen ==
TR A iefes G2 FAFHEABIE IqTaL
@Az pUEed e Faa
JweTeld fon for Somaets sidlfe e
Y (Of 281 SAl%erolios el ©iF b EE
A e =ifis 203 B foenifen anefa |
TIEAG 7 (ATF BF IF(F IAHALT TS
aapfacg reifen @3 aANeFR Terared
e coltc | voE-a wisEl, foq H-w
el ¢ Al g3R “IE” SR eIl
AR M 98 ISt qie weAl ACAEH |
wfoal AT Ole T FE AT
TR, A AR 2 ey =9 A1, [grew
el | i), el o emifiE AEicele
@12 SiFe-wte WY Ruglke | FIkibres
93 WA IAHNCLT FRSET AL @
“TWgLF Q@Y “Aferey” (AT LT
B WA I

B-25.“Taa 43 I6700 I (@ITAHT—

(A) F-sjFEEE [Were wifes A
B) FRF bedfe ¢ damiers

(C) AR-7Faa fufere i AMBs
(D) Coitaieeflm Mt G (AT ST

(E) $oitaa @eaifog o
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B-26.~[71Ce Sroes-SifEfa Yo @-feefH
eFiier—
(A) =7 fredfers Ik “[ifere Fa0z
(B) “F(A At Ml 2[ifere IR
(C) =97 exfe fEre AR
(D) AR MK G (A LT

(E) Toitaa @il =

B-27.“bexf&” “miba (PRI —
(A) Torex wfe
B) e w7l *fe
(C) T be o2 #f&
(D) CHARISRTR MK G (A LT
(B) To31 @IAIDE =1

B-28.5]19w%d 57@ @-a51 Mitz—
(A)  THTITA
B) ==
(C) (=BT sITs
(D) Coitaieeflm M G (AT ST
(E) Toizd @iaifog o

B-29. 3T FRORT “Ngd” @00 (@RI
BCR—
(A) T AeifEcs
(B) =T besfers
(C) =97 Fexfe ¢ aexfers
(D) Tt Mt G (AT ST

(E) Ttz @eaifog o

B-30.“=iferey” *wiba grevife famsmol—
(A) #fT® + 33
(B) @fere + T
(C) =rfere + 3
(D) AR MK G (A KT
(E) Toitza @il =

[=]E![a]

I [PTO.



31.

32.

33.

34.

PART - 11

(GENERAL STUDIES)

A player makes 7 complete revolutions of a
circular path to complete a race of 2200
metres. The radius of the circular path is :

-3

(A) 42 metres

(B) 45 metres

(C) 50metres

(D) More than one of the above
(E) None ofthe above

Ifthe capacity of a cylindrical tank is 1848 m’
and the diameter of'its base is 14 m, the depth

22
ofthe tank is : (7[ = 7)
(A) 8m
B) 12m
(C) 16m
(D) More than one of the above
(E) None ofthe above

1
If 3 t of anumber is 30, what will be 62% of

that number?

(A) 181.3

(B) 178.24

(C) 148.8

(D) More than one of the above
(E) None ofthe above

The salary of an officer is increased by 25%.
By what percent should the new salary be
decreased to restore the original salary?

(A) 25

B) 225

©) 20

(D) More than one of the above

None of the above

E)
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2 -3
35. By what number should (— —J be divided

36.

37.

38.

3
4 -2
so that the quotient is (gj ?
@ 3
_2
B -3
o 3
© -3
(D) More than one of the above
(E) None ofthe above
1 . . 1
Ifx+;= 5, what is the value of x* +—?
X
(A) 525
B) 527
(C) 529
(D) More than one of the above
(E) None ofthe above

A bag contains 5-rupee, 2-rupee and 1-rupee
coins intheratio 2 : 3 : 4. The total value of all
the coins is 32,000. How many coins of
2-rupee are there in the bag?

(A) 200

(B) 250

(C) 400

(D) More than one of the above
(E) None ofthe above

The interior angle of a regular polygon exceeds
its exterior angle by 108°. How many sides

does the polygon have?

A) 10

® 9

©) 8

(D) More than one of the above

None of the above

E)

[=]E![a]


{DBF 31}
{DBF 32}
{DBF 33}
{DBF 34}
{DBF 35}
{DBF 36}
{DBF 37}
{DBF 38}

31.

32.

33.

34.

PART - 11

(GENERAL STUDIES)

T Reerdt foret Jamen™ Ut & 7 R e eI
2200 e 1 gre gt e 2| IRTeRR ue R e

o2

(A) 42w

(B) 45

(C) 50

(D) SUgH U A TH | A
(E) sudwAa=eTd

Tfe foreit SeTTeRR 3ok <t enftar 1848 Wi iR &k
YR &1 =@ 14 Wt 31, @t ok <hi TS gl

-3

(A) 8

B) 12%#

(C) 16w

(D) SUg U A TH | A
(E) sudwAa=mETd

T ferelt wtem w1 3treai Wit 30 2, 9 36 S @
62% feragmm?

(A) 1813

(B) 178.24

(C) 148.8

(D) SudhH A UH A i
(E) SugwuawETd

Tk SATEreRT oA S 25% gt fean S 31 & 9w
i feram afcreTa et foen s foh a1 g A W st
S ?

(A) 25

B) 225

(C) 20

(D) SUg U A TH | A

(B) Sudhd | g T
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3s.

36.

37.

38.

3
(‘%j N N N S

(8]

2
A) 3

2
® -3

3
© 5
(D) 39T A TH A HAfw
() wEdwAARETE

1
gfe x+—=5 4 x* +L4 HFRNAAR?
X

X
(A) 525
(B) 527
(C) 529
(D) SUgH U A TH | A
()

IUYH W A S TE

T 9 H 5-w 0, 2-F03 qen 1w & fss
2:3: 4% ouE | | it ot 1 o qea
22000 31 9t & 2% % fope Roras €2

(A) 200

B) 250

(C) 400

(D) SUgH U A TH | A

(B) Sudvhd | s T

T THAGHS i I: iUl Ik AfshiuT & 108°
atfereh 31 30 wgeret A foberit oyeTral €2
(A) 10
®) 9
<€ 8
(D) SUgH U A TH | A
(E) Sugwhd @ T&
5] [=]

[P.T.O.


{DBF 31}
{DBF 32}
{DBF 33}
{DBF 34}
{DBF 35}
{DBF 36}
{DBF 37}
{DBF 38}

39.

40.

41.

42.

43.

Zinc Oxide is normally used in the
manufacture of

(A) Paints

(B) Explosives

(C) Solvents

(D) More than one of the above
(E) None ofthe above

Lenz’s law is derived from the law of
conservation of

(A) Magnetism

(B) Momentum

(C) Charge

(D) More than one of the above

(E) None ofthe above

Glycogen stored in liver and muscles of human
body is in form of

(A) Monosaccharide

(B) Polysaccharide

(C) Protein

(D) More than one of the above

(E) None ofthe above

In which of the following blood has defective
haemoglobin?

(A) Haematoma

(B) Sickle cell Anaecmia

(C) Haemophilia

(D) More than one of the above

None of the above

E)

In which of the following medicine production,
ethyl alcohol can be used?

(A) Antiseptic

(B) Antipyretic

(C) Anti-allergic

(D) More than one of the above
(E) None ofthe above
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44,

45.

46.

47.

48.

Velocity of sound at 15°C and 380mm
pressure is 340m. sec!. If the pressure is
doubled without change of temperature, the
velocity of sound would become

(A) 680m.sec!

(B) 170m.sec!

(C) 190m. sec

(D) 340m.sec!

(E) None ofthe above

If a bacterium cell divides in every 15 min,
how many bacteria will be formed in 2 hours.

A 8

®) lo

(C) o4

(D) 256

(E) None ofthe above

Plants and animal cell differ in which of the
following structure?

(A) Enzymes

(B) Nuclei

(C) Cellwall

(D) More than one of the above

None of the above

E)

According to the recent report of forbes,
which is the strongest currency in the world?

(A) OmaniRial

(B) Kuwaiti Dinar

(C) Bahrain Dinar

(D) More than one of the above
(E) None ofthe above

In which city of Maharashtra did PM
Narendra Modi launch 8 AMRUT projects?

(A) Kollam

(B) Baroda

(C) Solapur

(D) More than one of the above
(E) None ofthe above
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49.

50.

51.

52.

53.

IIT Madras has tied up with whom to launch
€ Mobility Simulation Lab?

(A) Altair

(B) Starlink

(C) Farber Speciality Lab

(D) More than one of the above
(E) None ofthe above

Who won the Best Actor Award at the
Academy Awards 2024 (Oscars)?

(A) Dwayne Johnson

(B) Cillian Murphy

(C) Tom Cruise

(D) More than one of the above
(E) None ofthe above

Who was recently selected as the ICC
Women’s T20i Cricketer of the year 2023?

(A) Smriti Mandhana (India)

(B) Nat Seiver - Brunt (England)
(C) Hayley Mathews (West Indies)
(D) More than one of the above
(E) None ofthe above

Who was Crowned Miss World 2024 in
Mumbai?

(A) Miss Czech Kristina Pishkova
(B) Miss India Sini Shetty

(C) Miss Lebanon Yasmina Zaytoun
(D) More than one of the above

(E) None ofthe above

In which country will the clean Energy Investor
Forum be organised by IPEF?

(A) France

(B) Singapore

(C) Spain

(D) More than one of the above
(E) None ofthe above
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54.

5S.

56.

57.

58.

59.

India has acquired the right to operate the
foreign Sittwe Port, it is in which country?

(A) SriLanka

(B) Bangladesh

(C) Myanmar

(D) More than one of the above
(E) None ofthe above
Mangrove forest of Ganga Delta is called
(A) Sunderban

(B) Sundergarh

(C) Surendranagar

(D) More than one of the above
(E) None ofthe above

Which river is frequently changing its course
of flow in Bihar

(A) Gandak

(B) Kosi

(C) Punpun

(D) More than one of the above
(E) None ofthe above

Plant roots gets water from soil as -
(A) Bound water

(B) Hygroscopic water

(C) Capillary water

(D) More than one of the above
(E) None ofthe above

How much equatorial diameter is larger than
polar diameter?

(A) 36km

(B) 43km

(C) 49km

(D) More than one of the above
(E) None ofthe above

The Indian Standard Time (IST) is taken at
which longitude -

(A) 82.5°E

(B) 78.5°E

(C) 87.5°E

(D) More than one of the above
(E) None ofthe above
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60. InIndia ‘Greenrevolution’ is known to credit 66.
to whom?
(A) Dr. V.Kurian
(B) Dr. M.S. Swaminathan
(C) Sri. S.L. Bahuguna
(D) More than one of the above
(E) None ofthe above
61. Highest Mountain peak of India is known as
(A) Everest 67.
(B) Kanchenjunga
(C) K-2
(D) More than one of the above
(E) None ofthe above
62. Indian continent was earlier part of
(A) Gondwanaland
(B) Tethys 68.
(C) Pangea
(D) More than one of the above
(E) None ofthe above
63. Who led the Revolt of 1857 in Bihar?
(A) TatyaTope
(B) Kunwar Singh
(C) Nana Saheb 69.
(D) More than one of the above
(E) None ofthe above
64. The spiritual side of nationalism was voiced
by
(A) RajaRam Mohan Roy
(B) Swami Shraddhanand
(C) Swami Vivekananda
(D) More than one of the above
(E) None ofthe above
70.
65. Which newspaper propagated strong
nationalist views during India’s freedom
struggle?
(A) Pioneer
(B) Amrit Bazar Patrika
(C) Statesman
(D) More than one of the above
(E) None ofthe above
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Who intervened in a dispute between the
workers and mill owners of Ahmedabad in
1918?

(A) Vallabhbhai Patel

(B) Mahatma Gandhi

(C) Jamshedji Tata

(D) More than one of the above

(E) None ofthe above

Name the left-wing leader of Bihar Provincial
Kisan Sabha who popularised this in Bihar?
(A) Karyanand Sharma

(B) WadhwaRam

(C) P.C.Joshi

(D) More than one of the above

(E) None ofthe above

Muddiman Committee was appointed to
report on the working of the

(A) Dyarchy

(B) Communal representation

(C) Federalism

(D) More than one of the above

(E) None ofthe above

“He was a great unifier in India who taught
us not only bare tolerance of others but the
willing acceptance of them as our friends and
comrades in common undertakings” who
said it?

(A) Subhash Chandra Bose

(B) Balgangadhar Tilak

(C) Rajendra Prasad

(D) More than one of the above

(E) None ofthe above

Who proceeded to organise the Provisional
Government of Free India outside the
country?

(A) RajaMahendra Pratap

(B) Rash Behari Bose

(C) Subhash Chandra Bose

(D) More than one of the above

(E) None ofthe above
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71.

72.

73.

74.

PART - II1
(ENGLISH)
75.

Which one of the following statements is true
inregard to the poem Beowulf ?

(A) Beowulfisadescriptive tragical poem

(B) Beowulf is an epic poem having a
narrative tone

(C) Beowulfis an argumentative poem

(D) More than one of the above

(E) None of the above

Which one of the following is an author of

Historia Regum Britanniae?

(A) Geoffrey of Monmouth

(B) Holished

(C) Plutarch

(D) More than one of the above

(E) None of the above

Which one of the following statements is true
inregard to Sir Gawain and the Green Knight?

(A) Sir Gawain and the Green Knight has
been written by William Langland

(B) Sir Gawain and the Green Knight is
attributed to Geoffrey Chaucer

(C) Sir Gawain and the Green Knight has
an anonymousship yet the author might
have lived in England

(D) More than one of the above

(E) None of the above

Pandarus is a Character in which one of the
following poems?

(A) Troilus and Criseyde

(B) The Romaunt of Rose

(C) The Book of Duchess

(D) More than one of the above
(E) None of'the above
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76.

77.

78.

79.

The book entitled ‘Troy Book’ has been
written by which one of the following authors?

(A) William Dunbar

(B)  Geoftrey Chaucer

(C) JohnLydgate

(D) More than one of the above
(E) None of the above

The characters in the Canterbury Tales are
supposed to set upon a pilgrimage to say
prayer to which one of the following martyrs?

(A) St. Thomas Becket

(B) St.John

(C) St. Peter

(D) More than one of the above
(E) None ofthe above

The idea of ‘round table’ appears in which
one of the following works of art?

(A) Thebook of Marjorie Kempe
(B) Revelations of Divine Love
(C) LeMorte Darthur

(D) More than one of the above
(E) None of the above

Which one of the following is a meaning of
the surname ‘Hythlodaeus’?

(A) Learned innonsense

(B)  Enlightened in wit

(C) Imperfect in sensibility

(D) More than one of the above
(E) None ofthe above

Which one of the following is an author of
Assertio Septem Sacramentorum?

(A) HeneryIV

(B) Henery VIII

(C) Heneryll

(D) More than one of the above
(E) None of the above
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80.

81.

82.

83.

Which one among the following is an author
of Ralph Roister Doister?

(A) Nicholas Udall

(B) John Heywood

(C) BenlJonson

(D) More than one of the above
(E) None ofthe above

In which one of the following treaties, the idea
of ‘Mysomousoi’ appears?

(A) Shelley’s Defence of Poetry
(B) Sidney’s the Defence of Poesie
(C) Dryden’s the Defence of Dramatic

Poetry
More than one of the above

(D)
(E)

None of the above

For which one of the following dramas
Shakespeare utilises Thomas Lodge’s
Rosalynde, Euphues golden legacie?

(A) Asyoulikeit

(B) Cymbeline

(C) Measure for Measure

(D) More than one of the above
(E) None of'the above

In which one of the works, the observations
‘We are all... Comedians in religions, ‘God,
who is the Author of all our tragedies, hath
written out for us, and appointed us all the
paste we are to play’ :

(A) Hakluytus Posthumus
(B) The history of the world
(C) Thediscovery of the Large, Rich and

Beautiful Empire of Guiana
More than one of the above

D)
(E)

None of the above
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84.

8s.

86.

87.

Which one among the following has been
called ‘well of English undefiled’?

(A) William Langland

(B) John Gower

(C) Geoftrey Chaucer

(D) More than one of the above
(E) None of the above

“And ride in triumph through Persepolis!-
Is not brave to be a King”.

The above observations appear in which one
of works?

(A) Tamburlaine the Great

(B) Doctor Faustus

(C) ThelJew of Malta

(D) More than one of the above

None of the above

E)

‘The true end of Satire is the amendment of
vices by correction’.

The above observation has been made by
which one of the following authors?

(A) Alexander Pope

(B) Jonathan Swift

(C) JohnDryden

(D) More than one of the above
(E) None of the above

Which one among the following is an author
of the Rover?

(A) AphraBehn
(B) Mary Astell
(C) Dorothy Osborne
(D) More than one of the above
(E) None ofthe above
[m]2![x]
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88.

89.

90.

91.

92.

‘Millament’ is a character in which one of the

following plays?

(A) LoveforLove

(B) The Double Dealer

(C) The Way of the World

(D) More than one of the above

(E) None of'the above

The work entitled ‘The Analysis of Beauty’
has been written by which one of the following
authors?

(A) William Hogarth

(B) Jonathan Swift

(C) Horace Walpole

(D) More than one of the above

(E) None of the above

The place of action in terms of the Battle of the
Books is which one of the following places?

(A) The British Museum

(B) St.James’s Library

(C) Bodleian Library

(D) More than one of the above

(E) None of the above

Which one of the following is an alternative
title to Gulliver’s Travels?

(A) Travels into Several Remote Nations
ofthe world
(B) Voyages : Ancient and Modern

(C) Voyages Across the Atlantic
(D) More than one of the above
(E) None of the above

‘Whatever is, is right’ is an observation that
appears in which one of the following works
ofart?

(A) An Epistle to Dr. Arbuthnot
(B) The Rape of the Lock

(C) AnEssay on Man

(D) More than one of the above

(E) None of the above
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In which one of the following months and
years, the daily journal the spectator was
founded?

(A) March 1711

(B) June 1812

(C) April 1766

(D) More than one of the above

(E) None ofthe above

Which one of the following is an author of
AJournal of the Plague Year?

(A) Daniel Defoe

(B) Samuel Johnson

(C) Jonathan Swift

(D) More than one of the above

(E) None ofthe above

How many letter writers does the novel
Clarissa have?

(A) Six

(B) Three

(C) Four

(D) More than one of the above

(E) None ofthe above

‘A School for Scandal’ has been written by
which one of the following dramatists?

(A) Richard Cumberland

(B) Sheridan

(C) Oliver Goldsmith

(D) More than one of the above

(E) None of the above

‘Prefaces, Biographical and critical’ is the
other title for which one of the following works
ofart?

(A) Lives ofthe Poets

(B) Love’s Labour’s Lost

(C) The Life of Samuel Johnson
(D) More than one of the above
(E) None ofthe above
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98. Inwhich one of the following works of art,
the ideas such as human happiness and social
well-being have been expounded?

(A) Enquiry Concerning Political Justice
(B) Adventures of Caleb Williams

(C) The Wrongs of Woman

(D) More than one of the above

(E) None of the above

99. The Castle of Otranto belongs to which one
of the following genres of fictional writings?
(A) Romantic
(B) Classical
(C) Gothic
(D) More than one of the above
(E) None of the above

100. Inregards to Frankenstein, which one of the
following statements is true?

(A) Frankenstein is a proto-science fiction
(B) Frankenstein is a horror fiction

(C) Frankenstein is a science fiction

(D) More than one of the above

(E) None of'the above

101. Which one of the following poems is inspired

by Peterloo Massacre?

(A) The Mask of Anarchy

(B) Queen Mab

(C) TheRevoltofIslam

(D) More than one of the above
(E) None of'the above

102. Which one among the following poets had a
recourse to Lempriere’s Classical Dictionary?
(A) Percy Bysshe Shelley
(B) JohnKeats
(C) William Wordsworth
(D) More than one of the above
(E) None ofthe above
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103. Which one of'the following novels deals with
the social and industrial problems of mid -
Victorian England?

(A) Hard Times

(B) Oliver Twist

(C) ATaleof Two Cities

(D) More than one of the above
(E) None of the above

104. Inwhich one of the following poems, the idea

of war is most expressive?

(A) Murder in the Cathedral

(B) The Waste Land

(C) The Eder Statesman

(D) More than one of the above
(E) None of the above

105. In which one of the following novels,

aesthetical theory has been expounded?

(A) APortrait of the Artist as a Young Man
(B) Dubliners

(C) Animal Forum

(D) More than one of the above

(E) None of'the above

The questions 106 - 125 are based on
comprehension of the passages. Answer the
questions that follow each of the passages:

Among the relics of the Indus civilization are found
the figures which are the prototype of Siva,
suggesting that he who explores his inward nature
and integrates it is the ideal man. This image has
haunted the spiritual landscape of this country from
those early times till today. The Upanishads require

us to acquire Brahma - Vidya or atma - Vidya.

The Katha Upanishad says that man is turned
outward by his senses so looses contact with
himself. He has lost his way. His soul has become
immersed in outer things, in power and possessions.
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[t must turn round, avrtta - caksuh, to find its right

direction and discover the meaning of reality it has
lost. The Jina is one who conquers his self. He is the
Mahavira, one who has battled with his inward
nature and triumphed over it. The Buddha asks us
to seek enlightenment, bodhi. These different Vedic
ideals ask us to change our unregenerate nature, to

replace avidya , ignorance, by Vidya Wisdom.

106. Which one of the following is the most
appropriate meaning of the term Siva?

(A) Supreme consciousness that is
integrated
(B) Unconsciousness that is active
(C) Ordinary consciousness that is
apparent
(D) More than one of the above
(E) None of'the above
107. Which one of the following is nearest in
meaning to the terms brahma-vidya and atma-
vidya?
(A) World that is changing and temporary
(B)  Experience that is timeless and external
(C) Lifethatbegins and ends
(D) More than one of the above
(E) None of the above
108. In what way, according to the passage, one
may be in a position to know oneself ?
(A) Bylooking round and within
(B) Bylooking outward
(C) By luxury and comfort
(D) More than one of the above
(E) None of'the above
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109. Which one of the following is the true meaning
of reality ?

(A) aknowledge of inward self only

(B) atrueintegration of outward and inward
selves

(C) aknowledge of outward self only

(D) More than one of the above

(E) None ofthe above

110. Who is the Buddha or Mahavira according

to the passage?

(A) One who has conquered the senses

(B) One who hasn’t conquered the senses

(C) One who has conquered the outward
senses only

(D) More than one of the above

(E) None of the above

The fundamental concept of Indian religious life may
first be briefly indicated. The goal of life is
communion with the Supreme. Itis a life of realization,
agnosis, an inner intuitive vision of God, when man
achieves absolute freedom and escapes from the
blind servitude to ordinary experience. It is subtle
interwovenness with the realities of the spiritual
world. It is not knowledge or the recognition of
universal ideas through a dialectical process or
analysis of empirical data. It is analogous to Plato’s
vision of an irrestible harmony with the deepest reality
ofthe world inspired and sustained by the spiritual
inus. Intellectual recognition and spiritual realization
are different. We can free ourselves from the
shackles of the body and in a split second we can
see the truth and be overcome by it. We see God
so intensely that the soul is more certain and more
possessed by the sight of God than the bodily eye
by the light of day.

111. Which one of the following is nearest in
meaning to the word ‘Communion’?

(A) arelationship only

(B) anintimate relationship

(C) afamiliarity

(D) More than one of the above
(E) None of the above
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112. Which one of the following is a result of the
act of Communion having been successfully

established?
(A) Itleads to the vision of deepest reality
(B) It introduces us to the transitory
experience
(C) Itisindescribable in nature
(D) More than one of the above
(E) None ofthe above
113. Which one of the following is the most
appropriate meaning of the word empirical?
(A) That which is related to thought
(B) Thatwhich is related to experience
(C) That which is related to logic and
reasoning
(D) More than one of the above
(E) None of the above
114. Which one of the following best explains the
observation ‘Intellectual recognition’ of
spiritual?
(A) Something which is based on logic and
reasoning with body being the basis
(B) Something which is based on
experience with soul being the basis
(C) Something which is based on cause and
effectrelationship
(D) More than one of the above
(E) None ofthe above
115. Whichone of'the following is nearest in meaning
to the phraseology ‘Split second’?
(A) Immediately
(B) Imminently
(C) Conspicuously
(D) More than one of the above
(E) None ofthe above

12/MAV/M-2024-01/S-301-E

25

The Divine is both in us and out of us. God is neither
completely transcendent nor completely immanent.
To bring about his double aspect, contradictory
accounts are given. He is divine darkness as well as
‘unencompassed light’. The philosophers with their
passion for unity emphasize the immanent aspect,
that there is no barrier dividing man from the real.
The unity of man and God is the fundamental thesis
of the great philosophic tradition which has come
down to us from the Upanishads and Plato, Aristotle,

Plotinus, Samkara, Spinoza, Bradley and a host of
others are witness to it.

116. Which one of the following best expresses
the idea of ‘transcendent’?

(A) contained in the ordinary experience

(B) extending beyond the limits of all
possible experience and knowledge

(C) ability to be one and all with everyday
experience

(D) More than one of the above

(E) None of'the above

117. Which one of the following is nearest in
meaning to the word, ‘Immanent’?
(A) being within the limits of possible

experience and knowledge

(B) being outside ordinary experience
(C) beingborn into logic and reason
(D) More than one of the above

(E) None of'the above

118. What does the term ‘unity’ mean according

to the passage?

(A) God and man have become one and
all

(B) God and man are distinct

(C) Godis transcendent whereas man is just
amaterial entity

(D) More than one of the above

(E) None of the above
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119. The great philosophical tradition of the world
begins with which one of the following
philosophical compositions?

(A) Upanishads

(B) Dialogues

(C) Metaphysics

(D) More than one of the above
(E) None of the above

120. Which one of the following is an explanation

of the term ‘Divine’?

(A) The Ultimate reality that is within

(B) Theapparent experience that is outside
(C) The sensuous apprehension of thought
(D) More than one of the above

(E) None of the above

The famous dialogue between the Indian philosopher
and Socrates suggests that for the whole Western
tradition man is essentially a rational being, one who
can think logically and act in a utilitarian manner.
The Western mind lays great stress on science, logic
and humanism. Hindu thinkers, as a class, hold with
great conviction that we possess a power more
interior than intellect by which we become aware of
the real in its intimate individuality, and not merely in
its superficial or discernible aspects. For the Hindus,
asystem of philosophy is an insight, a darsana. It is
the vision of truth and not a matter of logical argument
and proof. They believe that the mind can be freed
by gradual training from the influences of speculative
intellect as well as post impressions, and that it can
unite itself with the object whose nature is then fully
manifested. They contend that we can control
destiny by the power of truth. Knowledge means
power. The lack of this knowledge is root of all

trouble. Vidya is Moksha : avidya is samsara -

121. Which one of the following is a characteristic

of Western tradition?

(A) Manmustanalyse every experience in
terms of the facts

(B) Man must be capable of sensuously

apprehending the thought
Man must become dogmatic
More than one of the above
None of the above

©
(D)
(E)
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122. Which one of the following is a characteristic
of Indian tradition?

(A) Ideas are built around profit and loss

(B) Ideas are contained in the innate
experience

(C) Ideas are born into the thought which
isafact

(D) More than one of the above

(E) None of the above

123. Inwhich one of'the following ways, the ‘real’

is capable of being known?

(A) byutilizing the power contained deeper
than the mind

(B) by inferring just through certain
examples

(C) by comparing one with the other

(D) More than one of the above

(E) None ofthe above

124. Which one of the following is the best meaning
of the phraseology ‘Speculative intellect’ :

(A) dullreflection on the basis of logic and
reason

(B) uncertainty in terms of factual analysis

(C) to take to be true on the basis of
insufficient evidence

(D) More than one of the above

(E) None ofthe above

125. Which one of the following statements is
true?
(A) Vidyaand Avidya are similar to intuition

and intellect

(B) Vidyaand Avidya are at loggerheads

hence do not complement each other
(C) Vidya and Avidya are related to

comprehension of an experience
More than one of the above

(D)
(E)

None of the above
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The questions 126 - 150 are based on English 130.

Grammar.

126. Which one of the following is a correct
meaning of the word brethren?

(A) Sons of the same mother

(B)  Children of the same parents
(C) Members of the same society
(D) More than one of the above

131.
(E) None of the above
127. The utterance, ‘He became his own cook’ is
an example of which one of the following
grammatical categories?
(A) Distributive adjective
(B) Interrogative adjective
(C) Emphasizing adjective 132.
(D) More than one of the above
(E) None of the above
128. Which one of the following words stands for
the evening prayers?
(A) Vesper
133.
(B) Hymn
(C) Ecclesiastical song
(D) More than one of the above
(E) None of'the above
129. ‘A half holiday is better than none’ is an
example which one of the following parts of
speech? 134.

(A) Proper adjectives

(B) Descriptive adjectives

(C) Quantitative adjectives

(D) More than one of the above
(E) None of the above
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‘A triangle whose three sides are equal is
called an equilateral triangle’ is an example of
which one of the following classes?

(A) Relative pronoun

(B) Interrogative pronoun

(C) Exclamatory pronoun

(D) More than one of the above
(E) None of the above

‘He laughed a hearty laugh’ is an example of
which one of the following?

(A) Prepositional verb

(B) Retained object

(C) Cognatenoun

(D) More than one of the above
(E) None of'the above

‘Such a thing was never thought of” is an
example of which one of the following classes?
(A) Passive prepositional verb

(B) Active prepositional verb

(C) Active intransitive verb

(D) More than one of the above

(E) None of'the above

‘He died poor’ is an example of which one of
he following categories?

(A) Imperative mood

(B) Indicative mood

(C) Subjunctive mood

(D) More than one of the above

(E) None ofthe above

‘I had rather take this than that’ is an example
of which one of the following classes?

(A) Infinitive

(B) Gerund

(C) Participle

(D) More than one of the above

(E) None of the above
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13S.

136.

137.

138.
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Which one of the following would best fill in 139.
the blanks in the following observations?

‘Let be . We cannot undo the

past.

(A) old,old

(B) time,time

(C) Dbygone, bygone

(D) More than one of the above

(E) None of the above

Which one of the following would best fillin 140"
the blanks in the observation given below ?

‘TheSun ~ theysetoff’

(A) having, risen

(B) having, rose

(C) havingbeen, risen

(D) More than one of the above

(E) None of the above

‘Irely on the wall being built immediately’ 141.
In the above utterance, which one of the

following grammatical categories is at work ?

(A) Nouninthe genitive case

(B) Gerundive use of participle

(C) Participle

(D) More than one of the above

(E) None of'the above

‘He did this , and you have done it 142.

Which one of the following would best fill in

the blanks?

(A) already, ago

(B) now, then

(C) before, since

(D) More than one of the above
(E) None of the above
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He came and sat

Which one of the following would best fill in
the blank in the above observation?

me.

(A) besides

(B) beside

(C) by

(D) More than one of the above

(E) None of the above

‘She threw the letter the fire’.

Which one of the following would best fill in
the blank on the above observation?

(A) in

(B) into

(C) between

(D) More than one of the above
(E) None of the above

Which one of the following prepositions shall
go with the following observation?

Send  adoctor.

(A) for

(B) to

(C) in

(D) More than one of the above
(E) None ofthe above
‘Wrestle an adversary’.
Which one of the following prepositions shall
go with the blank above?

(A) by

(B) at

(C) with

(D) More than one of the above
(E) None of the above
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143.

144.

145.

146.

‘He started early because he might not be late’.

Which one of the following is a correct form
ofthe above?

(A) Hestarted early in order that he might
not be late

(B) Hestarted early in that he might not be
late

(C) Hestarted early in as much as he might
not be late

(D) More than one of the above

(E) None of the above

‘Iwould  have the picture then

the pen’.

Which one of the following would best fill in
the blanks?

(A) finally,and

(B) rather, than

(C) simply, yet

(D) More than one of the above
(E) None of the above

‘A person who is indifferent to pleasure or
pain’
Which one of the following would best explain

the above?

(A) stoic

(B) recluse

(C) nvincible

(D) More than one of the above
(E) None of the above

‘Incapable of being altered or recalled’.

Which one of the following would best explain
the above?

(A) Indestructible

(B) Indispensable

(C) TIrrevocable

(D) More than one of the above
(E) None of the above
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147.

148.

149.

150.

Which one of the following is a meaning of
the phrase ‘Once for all’?

(A) When athing is done it is done forever

(B) When a thing is done it is to be
reviewed

(C) When athing is done, it must always
be done

(D) More than one of the above

(E) None of the above

Which one of the following would best explain
the meaning of the phrase ‘Out-and-out’?

(A) disproportionately

(B) thoroughly

(C) illusory

(D) More than one of the above
(E) None of the above

Which one of the following would best explain
the meaning of the word ‘Proscribe’?

(A) tocondemn

(B) toglorify

(C) tosumup

(D) More than one of the above

None of the above

E)

Which one of the following explains the
meaning of the phrase ‘Through and through’?

(A) incomplete in nature

(B) thoroughness

(C) dull and drab

(D) More than one of the above
(E) None of the above
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